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s
you arc provided with the following apparatus

e Twodry cells

« Nichrome wire mounted on the meter rule

s Anammeler

e Cell holder

« Voltmeter

e 8 connccling wircs

o Switch

e A jockey
Proceed as follows.
a. Determine the electromotive force of the dry cells.

E=..3:0. XYLl | (1 mark)

b. Drawa dmgram to show how the electromotive force of the dry cells i (1 mark)

B A Y

c. Connect the circuit as shown below

Uiy

O,

ockey

D“F

C

S

C.
g:)nnc::hl the ends of A and C where AC is 100 ¢cm across the terminals as shown above.
ose the switch and record both ammeter reading and the voltmeter reading.

Current | = O[Q——A :tOIO_C_ /l

-------
-------------------------

.0 o \/l ( | mark)

Scanned with CamScanner



J. Proceed for the lengths shown in the table and record the corresponding values of current,]

/'/ ' and voltage,V ) # o l,/ v ( 6marks) - l 49,
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© e. Plota graph Ofp.d,V(\‘/) against current,J(A) s 3 (5 marks) Cuﬂwfll (A

1 ' | |1 | | ]
—H— |

f. Dcterminc the slope of the graph. (3 marks)
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g Laven thot 1~ v & Ir. Jdetermmne the following using the graph above,
(lmk)
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(Question 2
P/\RT A
You are provided with the following:

A metre rule

A knife edge

One 50g mass and a 100 g mass

Two picces of threads cach 30 ¢cm long
Some waler in a beaker

Liquid L in a beaker

Tissue paper

YOO NN

Y

Proceed as follows

1 Balance the metre rule on the knife edge and record the reading at this puint

e . |
Balance point =. .. . -S-O'O:L Ors /. .cm mark (1 mark)

For the rest of this experiment the knife edge must be maintained at this position,

b Set up the apparatus as shown in the figure below

- X D 10cm
C : i - —
- ﬂ f|‘ - .:[
r-/|-|1 ﬂ;m(

100z |

The balance is obtained by adjusting the position of 100g mass when 50 ¢ mass Is fully

immersed in water. Record the values of X and D.
v A< X o om0 (1 mark)

D=....... 8 3' £, i-- . O'-CC’M"/’ ( | mark)
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c. Using the principle of moments;
/ i, dcl;'_rmlnc the weight W ofl the 50g mass in water (2 marks)
, —

..... ACT-7 =Xl SN0 I '

-------------------

-----------------------------------------------------

= i

—

d. Remove the 50 g mass (rom the water and dry it using a Gissuc paper.
Keeping D constan

L adjust the position of 100g mass until the metre rule is balanced and
record the value of distunce X.

x=_ \HotoLcm. . .\/\

............. (1 mark)
i Determine the weight W3 of the 50g mass in liquid L. ( 2 marks)
_ Fi.f.(.q,-...:..ﬁ‘{?:.

.................

WO, ¥ 8 % = 00”277'\)\/,
(D .

...............................

R _u (2marks)
Uw l /
Rb=0:us739” — liooagaqg V.l
...O.c..|1+:5_..é|...............--.........---........' ...................................
f. Find the density of liquid Lin 5.1 unit

-------------------------------------------------------------------------------

..........................
.........................................................................................................

..........................................................................................................
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PART B
You are provided with the following:

A semi-circular glass block
Soft board
White paper
Four Optical pins
Two Thumb pins
Vernicr calipers

YOV VY Y Y

Procedure

a) Measure the thickness of the glass block using the Vernier calipers provided

t= 'S0 _cm_0. 015 m\/‘
l (( Eye

P\ \Ps
P 7 P3

2

(1mk)

ag°

b) Fix the plain paper 10 the soft board using drawing/thumb pins

c) Place the semi-circular glass block on the paper and trace its outline. Remove the block and

label A and B as shown in [igure above,

d) Identify the centre O of the plane and draw the normal at that point as shown in the figure

above.
¢) Measure incident angle i as 48° then draw the incident ray
d) Place two pins P, and P> on the incident ray as shown.

e) Move your eycs al curved face and locate the images of pins P and P, place pins Py and Py
such that the four pins arc aligned ina straight line.

f) Remove the glass block and join points P and Py to meet the interface AB.

g) Measure the angle Y between incident ray and the reflected ray.

7
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